似然函數表
	自然狀態
	支持目擊者的
	不支持目擊者的

	藍色車B,P(B)=0.75
	P(SB|B)=0.80
	P(SG|B)=0.20

	綠色車G,P(G)=0.25
	P(SB|G)=0.20
	P(SG|G)=0.80


支持目擊者SB的有關概率計算表

	自然狀態
    S
	先驗概率
P(S)
	條件概率
P(SB|S)
	聯合概率
P(SB(S)
	後驗概率
P(S|SB)

	藍色車B
	P(B)=0.75
	P(SB|B)=0.80
	0.60
P(SB)=0.65 
0.05
	0.923

	綠色車G
	P(G)=0.25
	P(SB|G)=0.20
	
	0.077


不支持目擊者SG的有關概率計算表
	自然狀態

    S
	先驗概率
P(S)
	條件概率

P(SG|S)
	聯合概率
P(SG(S)
	後驗概率

P(S|SG)

	藍色車B
	P(B)=0.75
	P(SG|B)=0.20
	0.15

P(SG)=0.35 
0.20
	0.429

	綠色車G
	P(G)=0.25
	P(SG|G)=0.80
	
	0.571


ANSWER: P(G|SG)=0.571 非80%
























